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[ENGLISH VERSIOD\
[ The answers of the Question Nos. 1, 2, 3, 4 are to be writt % eginning of the answer

calculation and drawing

script mentioning the question numbers in the serial order

must be given on the right hand side by drawing margins es on the answer

script. Tables and Calculators of any type are not ah'mb ¢
taken as % if required. Graph paper will Fwitl er. Arithmetic

[Additional Question No. 16 is OHWI candid

1. Choose the correct option in each om the 1x6=6

(i) 27,31,46,52,x,y+2,7 , 90 ar@in i asmg order. If the median is 64,
then the value of x + y i
(a) 125 EIEEI @2
(c) 127 '[-'-_T]_ A3 ) 128

The radius of e

(=

(ii)

de a hemlsphere is equal and their volumes
@ Sphere is greater than the height of the cylinder

(b) 50% E3E
(d) 200%1 [=]:

s of three sides of a triangle are sec 0, 1 and tan 0 (8 # 90°). The value
greatest angle of the triangle is '

ERE (b) 45°

o @) 90°
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(iv) 4B is a diameter of a circle with centre O. If the chord AC subtén 0° at the centre
then value of ZOCB is
(@ 20° () 30° _mlm
(c) 40° ) 50° Bl
(v) Ifa:2=b:5 then how many % of b is a
@ 20  x (b) 30 co
(c) 40 % (d)

%,

(vi) Simple interest of Rs. Y for Z month at @of X% pe
s. -

m iS

(a) Rs. 1_266-
() Rs. 700 [ (d) Rs.

1x5=5

2. Fill up the blanks l;(any ﬁve&

(i) xis the mean of( p+q) hlf y be \w of p numbers, then mean of remaining

g numbers is _ &
(ii) The greatest volume o olid con@ic an be cut off from a solid hemisphere of

radius r unit is
(=] 5 (=]

*

elof x is 5 E

. common tangents, then they will touch each

25 times of Principal amount of Aman. The ratio of Principal amount of Aman, Pintu

and David is’ ’ E]EE'

i
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3.  Write True or' False (any five) : E3E Q 1x5=5
(i) Mode =2 x Median - 3 x Mean. [ O
o ®
(i1) If x be the volume, y be the area of the base and z %ght of a cone then the
value oi‘—x— is 3. c :

(S vz
'y

(iii) If 0° < @ < 90° then sin 0 < sin%0.

(iv) ABCD is a cyclic quadrilateral. If ZADB = CD s (x + y)°.

7

(v) If the su;n of the square of the root = 0 is %, then the

N
value of k is 12.

(vi) In a joiiﬁ}_l business one of the.two' fri nds i S yz for y months and the other

EEE Rs. yzz fpr x months. At thmn s ¢ profit would be distributed in

the agreements,
Ei% the ratio x : y.

= N %
4. Answer the following qucstio@ten) . K Eﬁq 2x10=20

n +103 . Find the value of n.

(i) The Median of first 2n + 1) natural is

(ii) The rat:iﬁ__ of the 0 solid right circular cylinders is 2 : 3 and the

¢ ratio of the area of curved surfaces.

i h or fa parallelopip::d and y be the number of surfaces then
ol Y
for what least value of a, Yy + a) is a perfect square ?

[=] 32 =]
in' 0 = 2-, find the value of 1 - 2 sin%0. ﬂ&:
e [=]:

30°) = cos 15°, then find the value of cos 26.

3

¥
Lok

ZD - 4864 11 (Contd.)

—



Downloaded

From:

Madhyamik Question Absolutely
Papers @6 Free

(vi) O is a point inside a rectangle ABCD such that OB = 6,cm, = 8 cm and
04 = 5 cm. Find OC.

(vii) From an external point P of a circle with centre O, tWo tan S and PT are drawn.

0S is a chord of the circle parallel to PT. If ZSPT = ° thewfind the value of ZQOST.

(viii)Perimeters of two similar triangles are 27 cm and If the length of a side of the

first triangle is 9 cm, then find the length of the t@nding side of the second triangle.

(ix) If x < .f; and y = a?, when x = 2a then fin 20y,

(xi) The Capital of 4 and B in a business are in 4 ratiosd. 2. After donating 5% of the

profit B receives Rs. 798. What is the total profit %

(xii) If the annual rate of simple interest decreases from 5.5% to 4.5%, then the total interest

is decreased by Rs. 250..Find the capital B[ ¥
5. Answer any one question . K ] 5

(i) Ina joint business the.Capital of Sm Mohim are Rs. 20,000 each, After 6 months
Samar invests Rs, 5,000 more, but withdraws Rs. 5,000. At the end of the year
if the profit is Rs. 32,000 the he share of the profit of Samai’and Mohim.

(ii) Divide Rs, 21,866 into twopagts that the amount of the first part for 3 years and
amount'of the Second paf  years are equal at the same rate of 5% compound

(=15 [=]

*

interest.

6. Answer any. one question : 3

(i) Divide 16 into two parts in such a way that twice the square of the greater part is
164 more than the square of the smaller part. i
(ii)»Solve :
= R(= =
wﬁﬁ 8 28 s e —3)
[=]: x-3 x+3 2
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Answer any one question : Q 3

() If {x’- ij} o [x3 - } then show that x c::l ¥
e 10 4 y

(i) If x n:f% then find the value of i \/_

Answer any one question :

=

(1) If(b+c—a)x—(c+a-b)y—
B e
e =)0

o

i X 1
11) If — =
G 1f 2o

, then find th%v

Answer any one question : 5

ilateral op les are supplementary.
(ii) State :nd prove Pythag theorem. QE!
Answer any one questi @ 3
_ ) th,

(i) Prove that in a cyclic

with centre O. From a point P on the
drawn' on AB. Prove geometrically that

e eircumcentre

.
dlly

of the triangle ABC.OD L BC. Prove that ZBOD = /BAC.

of thi;;tzriangle. [E53[E
[=]: 13 (Contd.)
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12. Answer any fwo questions : Q 3x2=6

@ m? -1

(i) Ifs'mx=msinyandtanx=ntany,then showth\ =—-§—T E

P

OfE0]
o
HOl

5sin © + 7 cos

(ii) If tan © =%, find the value of

sin@ + 5 c@
(iii) Two unequal arcs of ratio 5 : 2 of a cirﬁ d angle at the ceritre. If the second
5

angle is 30°, find the first angle in _girc asure. [E}B[E
13. Answer any one question : Q G v
(i) From the middle of a ground Hab ervesa ﬂy&jrd toward porth at an angle of

elevation 30°, after 2 minutes he observes the same bird at an angle of elevation 60°

=]
o
(=

&

toward south. If the bird alwaysHfli€s in a straight line at height 50\5 meter from the
ground level, find its veloeity. f

(ii) Distance between two pillars is 15(@& of one pillar is thﬁee times the other
oy &

pillar. From the mid point of the lin ing their foot the angles of elevation of the
top of the two pillars are comp _ Find the height of the smaller pillar.

14. Answer any fwo qué'sﬁo‘ns : 4x2=8

(i) Curved surface area of asfight C ar cone is 15442 sq cm and ._radius of the base
%.cm. Find its v 'al 4

(ii) The height of a r1
6.times of the radius, theh the volume of the cylinder is 539 cubic decimeter more than

ircular cylinder is twice the radius of the base. If the height is

the previous volume. Find the height of the cylinder.

(ii1) Melting a solid Lead sphere of diameter 12 cm, three small solid spheres are made.
EE'E If the ratio of the diameter of the small spheres is3:4:5then ﬁnd fhe radius of each
(=]3 small sphere.
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15. Answer any fwo questions : Ei% 4x2=8

(i) The age of 100 persons present in a workshop is g1ven in owing table. Find

the average age of 100 people (by any method) :

Age (year) 10-20 20-30 | 30-40 60-70
No. of people 08 12 20 @ 20

(if) The median of following data is 32. Find the dyif x + y = 100.

Class Interval | 0-10 0 | 50-60

10 HE_%

(iii) Draw an ogive on the graph paper after calculatmg.tbgcumulatlve frequency

Frequency 10

(less than type) of the following,data.:

Class Interval (0-10 |10-20 [%20-30 40-50 | 50-60 | 60-70
Frequency 1 6 : 15 6 1
E3E
% [Alternative Questions fo tless Candidates]
11. Answer any one question : U EEE_! 3
(1) Describe the proeess of ﬁndm@ 2+/3 geometrically. %
(i1) Describe thewprocess a uction of incircle of a triangle whose three sides are
given.
. ZD - 4864 15 (Contd.)
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[Additional Questlons for External Candld es

16. (a) Answer any three ques__ti,ons : 2x3=6
.
F

(i) The ratio of portmn of profit of two fnen ind the ratio of their

capitals.

i

(ii) Find the mean propomon of xy* and x

(iii) The sum of length, breadth and helght OPa, cuboid/is 10 em and the length of the
diagonal is -J—_ cm Find thega r_ff_ urfaces of the cuboid.

(iv) Find x, if sin x = cos (x [:%%
(b) Answer any four quesﬁbns : 1x4=4

E3E (i) If the roots of a qura ¢ = 0 (a # 0) are reciprocal and
= oppOSIte in sign. me ).
(ii) Find the value of angle in degre % the tangent of a circle with the radius

of that circle a

 point 0 @
(iii) Write a di @ between t metric angle and trigonometrical angle.

(iv) Find %f lm us and perimeter of a circle.
Wals .
qual

df a circle are at equal distances from the centre of the circle”.
O-10

Bk




